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2A: sHIIsUE
M S ATMAAS (SRHLL/ D - SE)
Chel: SIHEEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sYJI=HH 89,019,264 90,063, 137 1,043,873
= 4,786,473
N 1,032,151
Jl 20,833,325
CH 1,550,000
= 9,107,715
o 51,709,600
ST YA (sHH Lt/ =Y - &) 32,692,012 31,431,563 1,260,449
= 768,590
Xl 32,151
Jl 18,573,960
< 3,005,034
Ea 10,312,277
SIHEE A 4,200,090 3,611,909 588, 181
= 752,150
Xl 32,151
= 568,800
o 2,846,989
sPHR=2I NS 385,611 327,490 58,121
101 @124H| 27,321 0 27,321
04 JIZtNZ22 NS+ 27,321 0 27,321
OsII=dE FUAY 22 27,321
-Jl=s 78,8803 x1H 247 19,484
-mard 224¢
78,8808 18 +67 5,285
A 28s 24,768,320 x12%10. 3% 2,552
201 er23| 192,890 192,890
01 AtR2te|HI 57,300 57,300
Odgt==H| 29,460
-SEAH E2E B M
2,500& *2,0002 5,000
-SERAATAY SO2 M
1,500& 1,0000H 1,500
-LI2tEH 0182
20,0008 %23 x 122 480
-SEEE Y MH
50,0003 * 14 %22 1,400
“HAL AZHEEE e
330,000+ 122 3,960
AP JJ|HNEE e
400,000+ 123 4,800
-us2 S| e =
160,000« 12& 1,920
-HAL R013H| & EY2ACIANAY B
=2 800,000 * 12 9,600
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2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
Chel: SIHEEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SoS 21 BEIY SH=
200,000 x2CH*23] 800
o2Yay 8,400
~S01D, S0IE U AIBAAEMAS 2
g 100, 000214282 %33 8,400
ogxiz 19,200
SR8 X
800, 000& «2CH* 12& 19,200
OSIE NS 240
A OtM e 200,000& %12 200
-5l gE N
40,000 12 40
02 S3=4gHl 135,590 135,590 0
O33= % H 104,760
-EMN e 7,000,000~ 128 84,000
-EMN =R 800,000& * 122 9,600
-SHA SHZ(TV - 85t
100,000& « 12 1,200
-SAXE2ER RfE2 1,800 *2000H 360
-pElY PEE 800,000 1204 9,600
ON&FHIS X 7,900
~grol A S| 700,00024+25] 1,400
| S
3,000,000 *23] 6,000
-L2HIOIH (S201) FAI2tell
500,000 *1CH 500
Ozt 22,680
EENEEEES S|
8002 +75 £ 1401123 22,680
Og=zH| 250
-g@X4 24 250,0002 %12 250
202 04| 7,200 8,400 1,200
01 SLHoIH 7,200 8,400 /1,200
OsgAH d2=a 7,200,000 7,200
203 HR=H] 5,000 3,000 2,000
03 AIMFTHR= 5,000 3,000 2,000
OsEAIH g2= 250,000 x202] 5,000
204 AR A 7,200 7,200
2 S3g =3l 7,200 7,200
OSEAMEBE A
200,000 «3F 122 7,200
401 Al HIZL S 0HYI 143,000 113,000 30,000
01 Al&HI 143,000 113,000 30,000
OFEAL 82 2ttt &X|
10,000,000& » 14 10,000
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2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
el sIHEE A (St &)
SA - ZE - B2(30) - HRAS of v e HIDE2
03 Al ZERIAREAY| 2,000 2,000 0
OXRYR REAR =7
200,0002 %102 2,000
206 MH=H| 14,900 14,900
01 =t 14,900 14,900
OHSYR BAHD BEASH 72
23,650 »630H 14,900
301 2eEN= 400,000 480,000 /80,000
14 JIEt2 8= 400,000 480,000 80,000
o023 e H Ax =5 X
1,000& #400,000% 400,000
307 el2to| & 221,000 218,500 2,500
02 2IZHB YA AR & 221,000 218,500 2,500
O33HI=0I= 0 ZEW K& 81,000
-8 I H (40kg) 9002 %10,000% 9,000
~ &9 (800kg) 9,000 %8, 000% 72,000
OnEm # T N
500 %500, 0000H*40% 100,000
O% i =541 X3
4002 %250, 0000H *40f% 40,000
sXolS2el X 187,084 227,156 A\40,072
= 130,959
[Ea 56,125
101 @124H| 179,134 181,725 2,591
= 125,394
= 53,740
M ORINZZE2NSE S 179,134 181,725 A2,591
OsXoIE2eXd GREXE
2,132, 5403« 1H+62 144 SH 179,134
= 125,3%4
[Ea 53,740
201 et 3| 4,200 39,431 A35,231
= 2,940
[Ea 1,260
01 AtR2t2lt] 4,200 39,431 A35,231
OsXolg22XE 2¢
300,000 14045 H 4,200
= 2,940
= 1,260
202 04dl 3,750 6,000 2,250
= 2,625
o 1,125
01 2K 3,750 6,000 A2,250




2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
Chel: SIHEEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEENEES NEFEE
104, 15024 +32* 122 3,750
= 2,625
Ea 1,125
SESMAIE 28,000 28,000 0
= 14,000
o 14,000
307 212+01& 28,000 28,000 0
= 14,000
T 14,000
04 QIZHHAMAIH 2 & 28,000 28,000 0
OsEFM N
14,000,000 +20H 2= 28,000
= 14,000
[Ea 14,000
sl Ol=ss284 N3 83,000 31,500 51,500
s 24,900
s 58,100
307 212+01& 83,000 31,500 51,500
[ 24,900
Ea 58,100
02 IHB A HE L 83,000 31,500 51,500
O8Il OI22E2A X
3,000,000 240K 2~ 72,000
= 21,600
o 50,400
Osgll Olesss84 A
2,750,000 *40H 2= 11,000
== 3,300
o 7,700
He =gl HIRM XA 660,000 260,000 400,000
= 198,000
= 462,000
307 elztol & 660,000 260,000 400,000
= 198,000
Ea 462,000
02 2IZHBYAIHE A 660,000 260,000 400,000
O0dg=sgel biexd X
200,000% %3, 3002 *100f% 660,000
== 198,000
o 462,000
QoIS ElXI==0H 60,000 45,000 15,000
= 18,000
= 42,000




2A:
X XH -
o e

=aak

Ofl &F2H

MEE
Ofl &k2h

M H

60,000
18,000
42,000

45,000

14 DBt 2 a=S

OU=g Rofli= EX

|==0HBl & Xl
4,000 %15,000kg

M

60,000

60,000
18,000
42,000

45,000

15,000

SERE FUSEN

[eeguiiy

Mo W

2,040
1,275
229
536

2,700

A660

307 212+01&

Mo W

2,040
1,275
229
536

2,700

A660

S
o
~
of
0z
>

0
H
vl

O
0
T
0
Jon
© L
fe=)
mo
e
[l
o
=)
H
oo
-
o

2,040,000&

MW

2,040

2,040
1,275
229
536

1,700

340

MEotgeld us XN

MW

1,200
375
135
690

720

307 212t01™

Mo W

1,200
375
135
690

720

300,000 +5Z+0.8

Mo

1,200

1,200
375
135
690

720

bl

A H

64,304
32,151

8,904
23,249

41,016

23,288

307 212t01™

bl

M

64,304
32,151

8,904
23,249

41,016

23,288

-
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2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
Chel: SIHEEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,000
=S 600
s 1,400
307 212+01& 637,500 500,800 136,700
= 446,250
= 57,380
o 133,870
02 QB AANEE R 637,500 500,800 136,700
OFH=2)=s s3I
637,500,000 637,500
= 446,250
= 57,380
o 133,870
SENEX AL 2EX# 1,200 1,200 0
& 300
Ea 900
307 glztol & 1,200 1,200 0
= 300
= 900
02 2B YA HE X 1,200 1,200 0
OSEMEXN AL 2E A
1,500,0002 x1&8*0.8 1,200
= 300
o 900
FHsgol FsHEN 96,000 96,000 0
< 28,800
[Ea 67,200
307 212+01& 96,000 96,000 0
& 28,800
= 67,200
02 2B YA E X 96,000 96,000 0
OBAEL0l HsREH
1,000,000 x8&* 12 96,000
= 28,800
Ea 67,200
W8 =20d dHD12 BAHXE A 17,400 34,800 A17,400
== 5,220
[Ea 12,180
402 2I2E X201 & 17,400 34,800 A17,400
< 5,220
s 12,180
02 QI X2 AL EE(OIHTHE) 17,400 34,800 17,400
O=% 0d & &AMl wH
14,500,000 «2CH*0.6 17,400
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2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
el SIHEZEANY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,220
s 12,180
S0 =AY 21,650 0 21,650
= 6,495
Ea 16,155
402 2IZHA=01A 21,650 0 21,650
=S 6,495
s 15,155
02 RIINEASEZ(0IETHR) 21,650 0 21,650
O== A4 N2+
40,000,000 *1IH 2=%50f% 20,000
< 6,000
= 14,000
OEHMXES 04 3,300,000 *17H 2 #50% 1,650
= 495
Ea 1,155
LEAE NZA 300,000 450,000 150,000
== 90,000
o 210,000
402 2I2FX=201H 300,000 450,000 150,000
[ 90,000
T 210,000
02 QI X2 AL EE(OIHTHE) 300,000 450,000 /150,000
O EAIE XA
300,000, 0002 *29H 2 #50% 300,000
= 90,000
[Ea 210,000
L= T NZAE 74,000 74,000 0
= 74,000
206 M=l 74,000 74,000 0
= 74,000
01 MHZHI 74,000 74,000 0
OZR2Ac|e= ZHH 74,000
-SXIZ(10kg XICH) 5002 *148,0000H 74,000
= 74,000
U= HARLIE 2435 X 10,000 10,000 0
< 3,000
s 7,000
307 lztol & 10,000 10,000 0
= 3,000
= 7,000
02 2B YAIHE £ 10,000 10,000 0




2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
Chel: SIHEEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFH=Ye HRLIE gdat N&
10,000,000 *10H 2~ 10,000
= 3,000
Ea 7,000
FMET WL R(HEAY) 40,000 40,000 0
== 36,000
o 4,000
206 M=l 40,000 40,000 0
[ 36,000
T 4,000
IEET 40,000 40,000 0
O=MET XI0] 2|
200&+200,0000t2! 40,000
= 36,000
[Ea 4,000
HEsRl SAHIRHA X3 A 21,600 36,000 14,400
s 6.480
s 15,120
307 212+01& 21,600 36,000 14,400
& 6,480
Ea 15,120
02 IHB A HE L 21,600 36,000 14,400
O d=sel 4t x XA
800,000 x3&*9& 21,600
= 6,480
o 15,120
Ssgel SHY Bl XA 56,000 56,000 0
=S 16,000
s 40,000
402 2I2F X201 & 56,000 56,000 0
< 16,000
[Ea 40,000
02 QI TH2AILEE (01X THE) 56,000 56,000 0
Osgel s&g #HoldH| X
500, 0002 *160CH*7(f% 56,000
= 16,000
= 40,000
sA?Es 2gXE 369,000 268,200 100,800
201 er=23y| 369,000 268,200 100,800
01 AtR2t2lHl 369,000 268,200 100,800
Oget+=EHI 33,000
== FEEOHIES
1,000,000 524 5,000
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2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
el sIHEE A (St &)
2 - HE - E9I(E) - AIRAY - of v e HIDE2
S EEEEE
2,000,000 1401 EH 28,000
o2Yay 36,000
=XIPIRE BA Y
100,000& x10E 22/« 12& 14 EH 336,000
sHY SHEE ZdAMY 70,000 100,000 230,000
= 30,000
= 40,000
402 2I2F X201 & 70,000 100,000 230,000
= 30,000
Ea 40,000
02 QI XHZ AL E R (01X THE) 70,000 100,000 30,000
Os=xe BAHE X4
70,000,000 *1IH 2 70,000
== 30,000
s 40,000
FE2ds =Xl gUE KEA 30,000 0 30,000
S 9,375
= 20,625
301 LEtE NS 30,000 0 30,000
= 9,375
[Ea 20,625
4Bt 2 a3 30,000 0 30,000
O3d=ls sAl gz N2
2,500,000 * 15ha*80% 30,000
=S 9,375
s 20,625
Sg & 2t TN X 13,000 0 13,000
& 3,900
= 9,100
402 QI+ X201 & 13,000 0 13,000
= 3,900
o 9,100
02 QI A2 AL E R (0IHTHE) 13,000 0 13,000
OSE & =2 2N A&
26,000,000 *17H 2=%50f% 13,000
=S 3,900
s 9,100
Z@td sitE 215 MEN 51,791 0 51,791
= 51,791
201 er2 3| 563 0 563
= 563
01 At2tltl 563 0 563
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2A: sHIIsUE
B SOIAMAS (SRHLEM/ 5L - SE)
el SIHEZEANY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | = 10,000
USEH At 2 BN E YAXE 2,721,310 2,814,160 A92,850
= 1,440
= 106,198
Ea 2,613,672
H S 2Hl X& 115,000 115,000 0
307 @20l & 115,000 115,000
02 QItASAIEE X 115,000 115,000
Ood Skt gl XA
10,0002 %9, 000 90,000
OXNEWE B HWSEA A A
12,500,000 *2IH 2 25,000
USE A MAAEEK 753,630 849,300 295,670
= 86,646
Ea 666,984
201 er=23y| 17,900 18,000 A100
=S 3,580
s 14,320
01 AtR2t2|H] 17,900 18,000 A100
Ogergt| 17,900
- Hols HPAR =2 X
17,900,000 17,900
= 3,580
= 14,320
307 gl2to| & 585,000 585,000 0
= 50,936
o 534,064
02 QB AANEE R 585,000 585,000 0
OH dalis sl s&g s X&
100,000& #2,500ha*22] 500,000
[ 33,936
T 466,064
Oyl golls =S2HMEl Xd
100,000 *850ha 85,000
= 17,000
Ea 68,000
402 2I2F X201 & 150,730 246,300 A95,570
< 32,130
[Ea 118,600
01 QI2IXHZ AN 2 (R THE) 33,600 33,600 0
OZAMBH MNTT ZA
800,000& x70ha*6(0% 33,600
02 QI X2 AL EE(0IHTHE) 117,130 212,700 A95,570




2A: sHIIsUE
B SOIAMYS (SR YSM/ 5L - SE)
el DS i 2 ERE HAXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLZEH At 24 K&
800, 000& *100ha*70% 56,000
= 16,000
Ea 40,000
OLNSEN YAt - (4E)
10,000, 0002 *1JH 2 +70% 7,000
< 2,000
[Ea 5,000
Os&g 23FHI(EH=) X2
4,130,000& 4,130
= 4,130
O &x2)| X3
20,000, 0002 *5CH*50% 50,000
= 10,000
o 40,000
H S2HIE X 1,724,900 1,721,900 3,000
206 M=l 1,704,900 1,721,900 217,000
01 M=4l 1,704,900 1,721,900 A17,000
OH JIH0IY 4EMHE K&
170,000& %5, 100ha 867,000
OH SR&At XMeldl X
147,000 #5,700ha 837,900
402 212t X201 & 20,000 20,000
01 QI X2 AL E X (KEHTHE) 20,000 20,000
OZ0ta2 X3 AlgA
1,600 %2504+ 100ha*50% 20,000
NSE AT XA 6,700 6,700
201 =3 1,900 1,900
01 At22t2l] 1,900 1,900
oget2dl 1,500
SIS EAYAUS E2S M
50,0002 x35*100H A 1,500
Ogxz 400
-SA28 gx= 400,000 12 400
202 04| 4,800 4,800
01 =LHO LI 4,800 4,800
OLZ&4 Az =& 4,800,000 4,800
AU =AY 3,600 3,600 0
303 Z&a= 3,600 3,600
01 Za= 3,600 3,600
O=Y=Z0F Eot & A4 3,600
x| 1,000,000 194 2 1,000
-2 700,000 #2042 1,400
-&ed 400,000 *37H 2 1,200

_15_




2A: sHIIsUE

B SOIAMYS (SR YSM/ 5L - SE)

Sl DSEH M 2 IS MAKR (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
adgds sdA2 19,000 15,100 3,900

201 er23 | 1,000 3,000 22,000
03 ALY 1,000 1,000 0
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= 6,709
= 26,836
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= 6,709
o 26,836
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402 2I2F X201 & 237,500 165,500 72,000
01 IR SASE X (XHMITHR) 237,500 165,500 72,000
O3 Arkztel JIXM XI&
475,000,000 *50% 237,500
LSAY RIS ALY 175,000 218,675 N43,675
= 35,000
[Ea 140,000
402 I2FX=01 & 175,000 218,675 N43,675
= 35,000
o 140,000
02 RIENZASEZ(0IETHR) 175,000 218,675 N43,675
OasSLt PRNE A
350,000,000 #50% 175,000
< 35,000
Ea 140,000
S02E ESAY 2,400 0 2,400
Jl 1,200
S 360
[Ea 840
402 BIZtAH=01 A 2,400 0 2,400
Jl 1,200
=S 360
s 840
02 RIENEASEZ(0IETHR) 2,400 0 2,400
OR+=0gd 252
400,000 *10S+60% 2,400
Jl 1,200
=S 360
s 840
2EEXEH X2 1,440 0 1,440
2l 720
S 216
o 504
402 2I2F X201 & 1,440 0 1,440
Il 720
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< 216
s 504
02 DIZHAFE A2 X (01 R TH ) 1,440 0 1,440
OgExIZY X2
100,000 x24=+60% 1,440
7l 720
< 216
= 504
a0ts A JIEDEE I 23,500 23,500 0
402 QIF X201 & 23,500 23,500
01 QI X2 AL E R (KEHITH) 23,500 23,500
OA0t= & JIEPI=E X
47,000,000 #50% 23,500
s2 AJE Alg(SAE ) 16,000 40,000 A\24,000
== 4,000
[Ea 12,000
402 2I2E X201 & 16,000 40,000 24,000
< 4,000
s 12,000
02 QI X2 AL EE (01X THE) 16,000 40,000 /24,000
OdHMEE 018 Ji=ad & 22 2o|aH
20,000,000 *17H 2=+80f% 16,000
= 4,000
Ea 12,000
HAER 2URY SHIT ed Jls Alg 60,000 0 60,000
= 30,000
o 30,000
402 2I2E X201 & 60,000 0 60,000
= 30,000
= 30,000
02 QIZEXHZ AL E (01X THE) 60,000 0 60,000
OHMEt? 2UNY dAE ea Jls Al
0,000,000 *1JH 2~ 60,000
= 30,000
[Ea 30,000
FEde=sa 1,016,3% 1,130,619 A114,223
101 21AH| 430,380 444,723 A14,343
04 JIZtN2Z2XNSE+ 430,380 444,723 14,343
O=Z&A= 430,380
s 78,880 x14F 247 272,768
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118,320 x 14 67 110,985
-AUEEs 383,751,2002%10. 3% 39,527
-EX= 78,8803 x38 30! 7,100
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SEEFEEE
8,520,000 8,520
206 M=l 119,500 163,000 A\43,500
01 M=4l 119,500 163,000 A\43,500
O=U zItHS 2& 2= A8 =4
65,000,002 65,000
Oma,0l0lA2 U B2l 23 2
20,000, 0002 20,000
ONF 2EE L OHIE 2 2= 7Y
10,000,000 10,000
OS2 HOAIE Y 10,000,000 10,000
O&AldE & 20l e 7,000,000& 7,000
OTANdE == IS Sl AlIAE FY
7,500,000& 7,500
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14 JIEt 2 a3 100,000 156,000 56,000
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401 AlZHIZ SO 50,000 100,000 /50,000
01 A28l 50,000 100,000 /50,000
Ok= #IINE B 20,000
-Zels & 24 5,000,000 5,000
—2SAFA(1,2) 10,000,000& 10,000
-2cls 2tEA # Orelet e A
5,000, 0002 5,000
OARAT2 HEHDI =20 12 24 el 20,000
HEID| HIOIEHA(1,2) DA S
10,000,000& 10,000
-J0I=Ect & HHD| 28 & WY
10,000,000 10,000
O==2 UHI0l [E i=AlE =258
10,000,000& 10,000
tEYA X2 3,387,290 3,597,677 210,387
= 851,112
Il 185,915
= 420,746
= 1,929,517
IIEEEY gAY NFOELAAE 72¢) 396,026 391,393 4,633
= 229,960
< 46,903
s 119,163
206 MH=HI 276,026 271,393 4,633
= 169,960
== 28,903
[Ea 77,163
01 M= H| 276,026 271,393 4,633
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276,026,000& 276,026
= 169,960
[ 28,903
T 77,163
307 elzto| & 120,000 120,000 0
= 60,000
[ 18,000
Ea 42,000
02 2B A HE L 120,000 120,000 0
OSIXl W2 4l X2
2,000 *100,0005*60% 120,000
= 60,000
< 18,000
[Ea 42,000
I=2Y olgsE X 230,760 193,760 37,000
= 34,614
= 196,146
206 M=l 230,760 193,760 37,000
= 34,614
[Ea 196, 146
01 M=4l 230,760 193,760 37,000
ORA: SYS MY S(63)
230,760,000 230,760
== 34,614
[Ea 196,146
LSO IS oA 22,000 22,000 0
= 4,400
= 17,600
206 MH=Hl 22,000 22,000 0
= 4,400
Ea 17,600
01 M=4l 22,000 22,000 0
OZE=Jt dE88 Hgs3 A
2,000& 11,0004 22,000
== 4,400
o 17,600
=E It LAEH X2 8,800 13,200 A4,400
= 1,760
= 7,040
402 2I2F X201 & 8,800 13,200 24,400
= 1,760
Ea 7,040
02 QI X2 AL E R (01X THE) 8,800 13,200 A4,400
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MW
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15,000
4,500
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Mo W

30,000
15,000

4,500
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30,000

10,000, 0002 *57H 2 +60%

Mo W

30,000

30,000
15,000

4,500
10,500

30,000

MW
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16,000
4,800
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Mo W

32,000
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4,800
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32,000

32,000
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4,800
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216,040

14 J|EtE &

HI
>.

0
oy

10,140

26,180

216,040




2A: sHIIsUEH
I 20 W YSHSYHLL/ Y - S&)
Rl JEgYEd X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZRQUEZ0N OIE U ARKA HISX
C 202,800 * 1 +5024 10,140
= 5,070
[ 1,521
T 3,549
Jl3sIt XA Al X XA 75,000 75,000
= 22,500
[Ea 52,500
402 I2FX=01 & 75,000 75,000
S 22,500
o 52,500
02 RIENZASEZ(0IETHR) 75,000 75,000
OJl=sIt =2Etel EXIK13
30,000,000 *4IH 2=%50f% 60,000
< 18,000
Ea 42,000
OdtssIt M3 2=SAE X2
15,000, 0002 *29H 2 #50% 15,000
= 4,500
Ea 10,500
JlIesIt Ord A= EIXIEE XA 12,000 12,000
== 3,600
o 8,400
402 2I2E X201 & 12,000 12,000
< 3,600
= 8,400
02 QI X2 AL EE (01X THE) 12,000 12,000
OJt2=sJt OFEAR EXIEH X
6,000, 0003 x4 *50f% 12,000
= 3,600
Ea 8,400
SEJ| 2elsIt Sl X 12,000 12,000
== 2,400
o 9,600
402 2I2FX=201H 12,000 12,000
< 2,400
T 9,600
02 QI X2 AL EE(OIHTHE) 12,000 12,000
OS&J| Qelsit gl N
2003 +60,0004 12,000
= 2,400
[Ea 9,600
Jle EY SHHM X3 7,000 7,000
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[Ea 5,600
206 MH=HI 7,000 0 7,000
=S 1,400
s 5,600
01 M= Hl 7,000 0 7,000
OLelslt SE8)| HY s2H X&
35,000 x200S 7,000
< 1,400
s 5,600
gAFASIt 2e 0=t & K& 11,000 21,400 210,400
= 2,200
Ea 8,800
301 EtE NS 11,000 21,400 10,400
=S 2,200
s 8,800
14 0Bt 2a3 11,000 21,400 10,400
2ol oIZs0t 23 SHEEHIE N
20,000 #5504~ 11,000
== 2,200
= 8,800
CClv s gool=et & X 110,400 93,000 17,400
Jl 55,200
[ 16,550
T 38,650
402 QI2F X201 & 110,400 93,000 17,400
Il 55,200
== 16,550
o 38,650
02 QI EASEZ(0IETHR) 110,400 93,000 17,400
oV & ggel=er XX
184,000,000 141 %60% 110,400
J| 55,200
=S 16,550
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EA)
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== 5,400
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M
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UMY
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UMY
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MO
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30,940
3,978
9,282
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30,940
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HoH W
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35,700,000& 35,700
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= 43,99%
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< 18,855
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OATYS THAML T (50,005)
95,000, 000& *50% 47,500
= 33,250
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[Ea 9,975
OHRNHAs FMAA P X (180,0005)
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Ea 34,020
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< 1,634
[Ea 3,811
206 MH=H| 11,187 11,510 A323
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s 3,811
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OT M A FSAEY A 2A3HH K&
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=S 1,634
s 3,811
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[Ea 37,800
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14 DBt 2 a=S 108,000 115,000 AT7,000
ARRET PHY HAFE X2
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= 16,200
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FHS LA HEAE Y NE(2E FHMS oL 7,500 7,500 0
E ANt Xg)
s 1,500
s 6,000
301 EtE NS 7,500 7,500 0
[ 1,500
Ea 6,000
14 JIEt2 8= 7,500 7,500 0
OARRD =T} HX M LTS A
=Hl X2 3,000 +2,5005 7,500
= 1,500
= 6.000
THS WA TR (FHMS oAl 28 - HE Al=HI( 35,200 45,000 29,800
ga))
= 17,600
= 5,280
[Ea 12,320
301 LEetE N = 35,200 45,000 /9,800
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= 5,280
= 12,320
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O8a AW ZEHS A=t XA
11,0002 +3,2005 35,200
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& 5,280
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M IHEH| 16,000 0 16,000
= 4,800
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6, 1663 *40kwx2I 2+ 12 5,920
SIHSUAIEA 1) AIER
87.5%*1,000kw+7/S* 122 7,350
~ACHA KA 2
1,800,000 x4 CH*14 7,200
-2UsIIH SEEEs
1,000CH+60,000& 60,000
-doteE 2= 200,000 122 2,400
OgaH| 7,000
-SJIH 3dld HERFH
2,000,000 *20H 2= 4,000
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2A: sHIIsUE
B SEXCAY (SRS D - SE)
el SIS A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-PUsIIH & XONR 2E FFH
750,000 +4CH 3,000
OAIE2 &= X 60,000
“SUsIIAH, SUAMSE | 22|
60,000,000 60,000
206 MH=HI 6,000 6,000
01 MHZH| 6,000 6,000
OsIIHSUHAE 57 & Mz
15,0003 #4005 6,000
401 Al HIY S CHYI 40,000 40,000
01 AlZH| 40,000 40,000
OsIIHSUAMEA 10 = & 2
40,000,000& 40,000
405 KHaHE SH 200,000 400,000 200,000
01 Rt LS EH S| 200,000 400,000 200,000
O/ AHSI A YA
10,000,000 +20CH 200,000
gRASIIHSUHAIS 220,851 193,530 27,321
101 @124H| 27,321 0 27,321
MU IIRINZZE2NSES 27,321 0 27,321
OSIIHAYUAMY dat2d 22X 27,321
-Jles 78,8803 x247& 19,484
-RERdIfrd 78,8802 x67 5,285
“AlHEE= 24,768,320 *10. 3% 2,552
201 Ler23 | 187,530 187,530
01 At2teltl 118,500 118,500
ER=last=tall 18,500
-SJH SUAE S22 M
10,000 +2000H 2,000
-SSP SUAE 1 2rE 9|
166,600 x65+ 123 12,000
S SUAEEE AIRES 28
1,500,000 1,500
-SIIH SUAIE AR FHA & 22UES
-8 200,000& * 128 2,400
-SIIHSUHAE Z+0| U=
50,000~ 1CH* 122 600
ogxz 100,000
-AUUSIIH 28 AN (2L)
100,000& %1,0003! 100,000
2 S22l 69,030 69,030 0
OZ33x2= € HMAl 12,030
-HJI23 9,630
HEREASIIHSUHAIE A &1 JlEag
6, 1662 x45kw+ 104 2= x 122 3,330
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2A: sHIIsUE
B SEXCAY (SRS D - SE)
el SIS A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HREASIIHSUHAIE A E10 MEZE
87.53+1,000kw6S* 122 6,300
-&ote=ERs 200,000& * 128 2,400
Og=zh| 7,000
-SI2 SHld HESFH
2,000,000 294 2 4,000
-YU=sIIAH L XA 2SKFU
750,000 *4CH 3,000
OAI2&EbBI= X 50,000
“AU=sI0 ¥ LUAMSE |XZeld
50,000,002 50,000
206 Tl 6,000 6,000
IEET 6,000 6,000
OLEASI HLHAY
15,0003 #4005 6,000
S =3 U= 207,505 147,384 60, 121
101 21A4H| 131,610 71,854 59,756
04 JIZtN2 2N S 2+ 131,610 71,854 59,756
OsIH =3lclus 8228 29 131,610
=z 95,0002 #42 +2472! 93,860
-sa8Y 224+
95,0003 x4 »67 25,460
AU 282 119,320,0002 %10. 3% 12,290
201 fet=3| 4,130 4,130
01 At 22|l 4,130 4,130
Oul=s| 2,750
-SIH =3 u| 100,000& x5 & *42] 2,000
0HEE, OEE S |
50,0008 +52413] 750
O+ 1,380
-SHRB(AUE, H2EA)
360% *3,000S 1,080
“SIANE 28 =9 NE
50,0003 60 300
202 04dl 3,665 3,300 365
01 =LHNHI 3,665 3,300 365
OsIAH A& g% =8 3,665,000& 3,665
203 =4l 500 500
03 A=A 2= 500 500
OsI=2ns A2 =8
50,000& *102] 500
206 M=l 64,000 64,000
01 MZH| 64,000 64,000
SIH =2lugns 235 72
10,0002 *6,0007H 60,000
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2A: sHIIsUE
B SEXCAY (SRS D - SE)
el SIIAHSH At (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=JIH =3alUlgus e #4
20,0003 %2005 4,000
301 EtE2 NS 3,600 3,600
11 #AIAHIXIZ S 3,600 3,600
OsIHuE 4 24 6,000 «600& 3,600
SIHANFSEAS 29,500 29,500 0
201 2= 7,500 7,500
2 S22l 7,500 7,500
@Jul=d:] 1,500
-SIAHNE sddd RFU
1,500 »500 =20 1,500
OAlE2 &= X 6,000
—WSEHEEH 72
120,000 +50CH 6,000
207 ARl 2,000 2,000
03 A& 328 2,000 2,000
OXNGSSEsIIA N
2,000,000 %14 2,000
307 el2to| & 20,000 20,000
12 QIS W= 20,000 20,000
OAd SEH 2su=s
200,000 %100 20,000
SEIAAE W= ALS 38,000 64,000 226,000
= 19,000
= 5,700
o 13,300
206 M=l 18,000 18,000 0
= 9,000
= 2,700
[Ea 6,300
01 M=4l 18,000 18,000 0
OsgIIHLE M=+ 18,000,000 18,000
= 9,000
= 2,700
= 6,300
405 KHoHF S| 20,000 46,000 226,000
= 10,000
= 3,000
= 7,000
01 ML ESF SHI 20,000 46,000 A\26,000
OusEsEIIH 2 20,000,000& 20,000
= 10,000
[ 3,000
T 7,000
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2A:
X XH -
o e

=aak

s8JI=4H

SENCAY (sEHLM/=Y - =
(]
=

SEIIHSE A

U

Ofl &F2H

MEE
Ofl &k2h

SO SHEX X

HH W

10,900
4,360
1,308
5,232

9,400

206 MH=H|

HoH W

10,900
4,360
1,308
5,232

9,400

1,500

01 M=8l
OsgIIH SEX

10,900,000

MW

10,900
10,900
4,360
1,308
5,232

9,400

1,500

g2a= JHetE seIIH A2 A

M

59,000
17,700
41,300

30,000

29,000

A H

59,000
17,700
41,300

30,000

29,000

=
OJst sgolsd sgd s

A+
59,000,000&

M

59,000

59,000
17,700
41,300

30,000

29,000

=214 A

Mo W

34,000
17,000
8,500
8,500

200,000

166,000

>~

r
Bh0

405 XHakH

Jn

]

Mo W

34,000
17,000
8,500
8,500

200,000

166,000

34,000,000

HoH W

34,000
34,000
17,000
8,500
8,500

200,000

166,000

XL 2D A SIAKX A

HoH W

1,500,000
750,000
375,000
375,000

1,500,000

H

25,500
12,750

31,000

25,500
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2A: sHIIsUE
A SENCAY (SRS - BE
el SIS A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,375
s 6.375
01 Al22t2lH] 2,000 2,000 0
OOISIIE BEME 72
1,000,000 *23] 2,000
= 1,000
== 500
= 500
2 5234l 21,000 21,000 0
OglisJIA 28 30,0002 *700CH 21,000
= 10,500
< 5,250
= 5,250
03 A= SHI 2,500 8,000 A5,500
ODt=MbH st ML HAl2
2,500,000& %12 2,500
= 1,250
= 625
= 625
405 AtatE =4 1,474,500 1,469,000 5,500
= 737,250
& 368,625
= 368,625
01 It =S F = 1,474,500 1,469,000 5,500
OFANLZLUSIIH 72
1,474,500,000& 1,474,500
= 737,250
< 368,625
s 368,625
XES sIIAH KNS A 1,000,000 372,000 628,000
= 300,000
Ea 700,000
402 2IZtA=01d 800,000 372,000 428,000
=S 240,000
s 560,000
02 RIENEASEZ(0IETHR) 800,000 372,000 428,000
O%XEE I NZAY
800,000,000 800,000
< 240,000
= 560,000
405 AHatE = 200,000 0 200,000
= 60,000
Ea 140,000
01 ML ESFSHI 200,000 0 200,000
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2A: sHIIsUE
B SEXCAY (SRS D - SE)
el SIS A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXEE 2UsIIA HHA
25CH+8,000,000& 200,000
= 60,000
Ea 140,000
SIAHXNZAMS 900,000 1,100,000 200,000
402 2I2F X201 & 900,000 1,100,000 200,000
01 RIENSASE X (XM THR) 900,000 1,100,000 A.200,000
oget SJIAH K& 272,000,000 272,000
OCt=dat SI1AH X2 628,000,000 628,000
S0l ST 28 K- 200,000 73,330 126,670
= 50,000
[Ea 150,000
307 el2to| & 200,000 73,330 126,670
= 50,000
o 150,000
06 28= 200,000 73,330 126,670
OsIIHEEXNE At
500,000& »1,000CH+0.4& 200,000
< 50,000
[Ea 150,000
MEE SEEE Mo Z2RE 73,000 11,215 A38,215
= 34,900
o 38,100
101 @124H| 65,000 73,215 N\8,215
= 32,500
o 32,500
04 JIZtNZ22 XS 2+ 65,000 73,215 28,215
OoJlzs 78,8802 x5 *110 43,384
s 21,692
s 21,692
ORs7d=g 78,8803 x5& x40 15,776
= 7,888
= 7,888
o4l 288 1,168,000 x5& 5,840
= 2,920
o 2,920
405 AtatE = 8,000 38,000 30,000
< 2,400
[Ea 5,600
01 TR ESF SHI 8,000 38,000 /30,000
Oszgd IS sI1H 7Y
8,000,000 = 1CH 8,000
= 2,400




2A: sHIIsUE
B SEXCAY (SRS D - SE)
el SIS A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 1] = 5,600
sAERS(sgilldstl/sY - sE) 15,545,895 15,283,856 262,039
= 782,247
CH 1,550,000
= 558,805
Ea 12,654,843
AS gdst AE 1,558,124 929,437 628,687
= 155,000
= 26,000
= 1,377,124
SEOI 22 570,000 570,750 AT50
306 £= 450,000 450,000 0
01 2d= 450,000 450,000 0
OogudFALA 28 450,000,000 450,000
402 2I2FX=01 & 120,000 120,750 AT50
01 I SASE X (XHMITHR) 120,000 120,750 AT50
OFgx duEJtsg2a X8I £ It
S A KA 120,000, 000& #50% 60,000
ORZMRI| 228 ZHIUA &
20,000, 000& *6IH 2= +50% 60,000
Fals AdE us2 29 122,788 75,687 47,101
101 @124H| 29,688 26,487 3,201
04 JIZtNZ22 NS+ 29,688 26,487 3,201
OFgli=s Adg s 22 29,688
-Jl=s 78,8803 x1H 247 19,484
-FErdIfrd 78,8803 x 1 +67 5,285
A== 24,768,320 *10. 3% 2,552
-EA= 78,8802 x1& 30 2,367
201 fet=23y| 63,100 49,200 13,900
01 AtR2te|HI 12,900 10,000 2,900
Oget=EH| 12,900
-SOIAHIAAE B9 200,000 * 122 2,400
SN ES 200,000 122 2,400
-€2= A% & 1S 7Y
500,000 52 2,500
—AME s D7) T 2 2
g 5,000,000& 5,000
-0 dE 25,000 =20 =122 600
2 s5=4g4l 20,200 19,200 1,000
O8&82= £ MA 15,040
-HIes 1,000,0002 122 12,000
+ER3 100,000& 122 1,200
-t 70,0002 122 840
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2A: sHIIsUE
M SAESS(SUHSSM/EY - SE)
=R sAE 243 X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-O2AD MY 2EE 1,000,0002! 1,000
ONEFHIS Y 2, 0002215 * 122 5,160
03 A2 Y| 30,000 20,000 10,000
OAME IS T2 2
30,000,000 30,000
401 Al HIZL S 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
OZULIS AME ISP XY 829
20,000,000& » 14 20,000
405 KHaHF S| 10,000 10,000
01 ML ESFSHI 10,000 10,000
OFdli=s AdE us2 b3S 78
10,000,000 * 14! 10,000
ASHEe & =M FIOHIA 234,340 255,000 A20,660
201 =3 219,000 253,000 A34,000
01 At22t2lt] 219,000 253,000 234,000
O=Ue A&l ol X2
200,000,000 200,000
(OF+T=LUAPNES 1,00024%10,0007H 10,000
OZE= MH 5,000& *1,000H 5,000
O8A =23+5 2=
1,000,000 *42] 4,000
202 04l 13,840 13,840
01 2LHoIH 3,840 3,840
OSAEEME oz 3,840,002 3,840
03 =2l iS0iH 10,000 0 10,000
Odi2lsASUEs HXI0AE 23 0l
10,000,000 10,000
203 =48l 1,500 2,000 A500
03 A=A 2= 1,500 2,000 A500
OslEegs 2 YR
100,000& * 152 1,500
STRC Y IHHEEH 29 108,000 0 108,000
= 4,000
= 104,000
201 Ler=23 | 80,000 0 80,000
= 4,000
[Ea 76,000
01 AtR2t2|HI 30,000 0 30,000
OZZFEE 2= M
3,000,000& *23] 6,000
OZZEE EEAAE sESNE 7Y
300,000& x102] 3,000
ORZZE NS(IBIRE ) &2 ot
158 %3, 3338 202 1,000
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2A: sHIIsUE
Y SAESS(SYUHYLM/SY - SE)
ool sAsE 2dst I3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZZREANMY stt= ol y HA
200,000 %1002 20,000
03 A= SHI 50,000 50,000
OZJicHEH HE(29)
2,000,000 * 103! 20,000
== 4,000
o 16,000
OXIHELE AHIZEXIHA
10,000,000& x32] 30,000
307 el2to| & 28,000 28,000
02 2B YAIAE £ 28,000 28,000
ORUZC ZHT| XA
20,000,000& *2IH 2= x7(f% 28,000
P AME AHIEN Jlgtxd At 10,000 10,000
= 5,000
= 1,000
o 4,000
307 @120l & 10,000 10,000
= 5,000
= 1,000
o 4,000
02 2IZHBYAIHE £ 10,000 10,000
OSAATHE AHIS JIPIEY AR
10,000,000 10,000
= 5,000
= 1,000
= 4,000
&4 Ui=2lt sEssgagils 4 300,000 300,000
= 150,000
= 21,000
= 129,000
307 elztol & 197,000 197,000
= 98,500
[ 13,790
T 84,710
02 LB HAHE L 197,000 197,000
OOLSYT S=BARE 29 N
197,000,000 * 100 2 197,000
= 98,500
[ 13,790
Ea 84,710
401 Al HIZL 01| 103,000 103,000
= 51,500
< 7,210
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2A: sHIIsUE
Y SAESS(SUHSSM/SY - SE)
ol SEEANE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S3SAXE 7,501,662 6,900,937 600,725
= 11,286
= 7,490,376
HiclSghZdE 24 7,454,042 6,848,367 605,675
101 @124H| 207,802 212,847 N\5,045
04 JIZtNZ22 NS+ 207,802 212,847 A5,045
O=CISEXNAHH 29 207,802
-Jl=s 78,880x7 B #2417 136,384
-FaRgdIfsE 78,8803 7 *67L 36,99%
-AUEEE 173,378,240 *10. 3% 17,858
-EX= 78,8803 x7 & *30! 16,565
201 er=2 3| 732,400 614,240 118,160
01 AtR2te|HI 646,900 528,740 118,160
Oget+=EHI 63,700
ARHIE 7Y L BEE HN
100,000 x105+102] 10,000
“EE 2 2,000,000 %53 10,000
-Seal AIE ==& 5,500,000 12 5,500
)| gXtz 400,000 =2CH 800
-SOIAHANAHESA 300,000 * 122 3,600
-ESLHES 300,000 122 3,600
- 2orM 2o | CH el 3,000,000 *14] 3,000
“Sojerd e e 7,000,000 *14] 7,000
-S| AL A WF
200,000& %12 200
DRSO U HAIS 2AL B
200,000 x1002] 20,000
O=g=¢ 7,200
A2 =g 100,0002 6~ 122 7,200
ogx= 576,000
-AHE BISXHE
4,000,000& = 12CH* 122 576,000
02 S3=gl 85,500 85,500 0
Os&sk= € MA 56,300
-HIes 4,000,000 ~12& 48,000
-dot=EMNER 200,000 * 122 2,400
-StR23 200,000 122 2,400
—HASH A Y P E 500,000 *14] 500
~ NS XhAl 500,000 =2CH 1,000
-ASI 288 1,000,000 «2CH 2,000
OAlZ &I Xl 10,000
-HcISEAEEH RAEs
10,000,000 * 14 10,000
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M- B SRASH) - HRAR - B2 of v e HIDE2
OXtgrset] 19,200
-XEEHIFA
800, 0002 «2CH* 12& 19,200
202 04| 3,840 5,280 1,440
01 2LHA b 3,840 5,280 1,440
OgHcIsEd
3,840,002 3,840
206 Tl 6,500,000 6,000,000 500,000
IEET 6,500,000 6,000,000 500,000
OB234 AX
541,666,600« 123 6,500,000
405 KHoHF S| 10,000 15,000 /5,000
01 L ESH 10,000 15,000 /5,000
OtHSAT 2 J
5,000,000& <2Z 10,000
sS4 20 1R 10,000 10,000
307 lztol & 10,000 10,000
12 QI2HQIRE 10,000 10,000
ozzaA &
10,000,000& » 14 10,000
o201y W2ty 37,620 42,570 A\4,950
= 11,286
o 26,334
206 M=l 37,620 0 37,620
== 11,286
o 26,334
01 M= HI 37,620 0 37,620
Oofgloly
1,100 %7608 453 37,620
& 11,286
= 26,334
SAO0HAE 392,740 1,236,140 A\BA3,400
= 8,000
o 384,740
S4E OBHIE AR 392,740 1,236,140 843,400
s 8,000
s 384,740
201 et 3| 10,000 653,360 A\643,360
01 At22t2l] 10,000 650,000 640,000
Oget=ZH] 10,000
-E2= M 1,000 #5,000H 5,000
-E28 AL
5002 10,000H 5,000
202 04| 3,240 5,280 2,040
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2A: sHIIsUE
Y SAESS(SUHSSM/SY - SE)
el sZ0BE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 3,240 5,280 A2,040
Os=Sag 0PIg 22z
3,240,000& 3,240
203 HR=4AY] 1,500 1,000 500
03 A= PR F&| 1,500 1,000 500
Oss4e 88 = gox
100,000& * 152 1,500
307 212+01& 28,000 59,500 A31,500
< 8,000
s 20,000
02 2IZHB A E £ 28,000 59,500 /31,500
OsttE 2ct 220t &g XA
40,000, 000& *70% 28,000
= 8,000
Ea 20,000
308 AtXIEMSOIE 350,000 350,000
18 SIS B ASAI I 350,000 350,000
OSEE8 dHH 50,000,000 50,000
O & d=za1 100,000,000 100,000
OUEAl sSitE &1 200,000,000& 200,000
sttE FSMA 2= 2,072,347 1,450,093 622,254
= 519,747
= 270,849
= 1,281,751
SHE XS SHE X2 (APC) 823,000 0 823,000
= 411,000
[ 206,000
Ea 206,000
402 BIZtAH=01H 823,000 0 823,000
= 411,000
s 206,000
s 206,000
02 QI EASEZ(0IETHR) 823,000 0 823,000
OsatSM K SHE X2 (AC)
823,000,000 823,000
= 411,000
=S 206,000
s 206,000
st MAIFSAE X 72,668 36,210 36,458
< 21,800
s 50,868
402 QI2F X201 & 72,668 36,210 36,458
= 21,800
= 50,868

S




2A: sHIIsUE
Y SAESS(SAUHSSM/SY - SE)
el =42 RSN 2= (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 72,668 36,210 36,458
OA+R stte FSAIE N
121, 113,000& *60% 72,668
= 21,800
Ea 50,868
L =SEdat 2FAY 56,000 56,000 0
== 20,000
o 36,000
307 212+01& 56,000 56,000 0
< 20,000
= 36,000
02 LB HAHE L 56,000 56,000 0
Ot SEIPIERS S8
80,000, 000& *70% 56,000
= 20,000
Ea 36,000
SEIBIE XA 2dal A3 210,000 210,000 0
307 @I2t01 & 210,000 210,000
02 QB HANSEER 210,000 210,000
OSeiE XA gdat XA
210,000,000 210,000
SSHEH| 156,000 275,000 119,000
= 78,000
== 15,600
o 62,400
307 212+01& 156,000 275,000 119,000
= 78,000
= 15,600
o 62,400
02 QB AANEE R 156,000 275,000 A119,000
OssHE8dl XI&E 312,000, 000& #50% 156,000
= 78,000
= 15,600
Ea 62,400
st 383 |4 N2 475,000 575,000 100,000
307 @I2t0| & 475,000 575,000 100,000
02 QB HANEER 475,000 575,000 100,000
Osttg 343 27 Xd
250,000,000 *50% 125,000
OsttE 343 ZEW K&
400,000, 000& #50% 200,000
OsttE 343 dEH X
300,000, 000& #50% 150,000
sSSMSEZE K& 222,500 222,500 0
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